20

1 20Km
2011 5 29 10 00 2011 29 10 00
filt
B it il
B
1 (@) b c=b-a
O) HSv ) pISv - pISv
30k 22 30 180
31 2011/3/23 11:43 2011/5/27 12:12 14920 2011/5/28 10:42 15100
30k 22 30 (8.0 paSv/hour)
31k 21 50 350
32 2011/3/23 12:14 2011/5/27 12:28 34630 2011/5/28 10:18 34980
31k 21 50 (16.0 paSv/hour)
33k 21 17 210
33 2011/3/23 12:32 2011/5/27 12:43 19600 2011/5/28 10:00 19810
33k 21 17 (9.9 paSv/hour)
30k 2011/3/23 13:08 2011/4/24 12:03 4486 - 7283 -
34 pe
30k 2011/4/26 15:42 2011/5/27 12:.01 2710 2011/5/28 12:03 2797 24 02
24 02 (3.6 paSv/hour)
29k 23 07 200
79 2011/3/23 14:.09 2011/5/27 11:46 16960 2011/5/28 10:53 17160
29k 23 07 (8.7 paSv/hour)
62k 23 52 13
1 2011/3/24 15:20 2011/5/27 8:36 1209 2011/5/28 8:28 1222
62k 23 52 (0.5 paSv/hour)
39km a7 49 6
84 2011/3/25 10:40 2011/5/26 9:44 251 2011/5/28 9:33 257
39km 47 49 (0.1 paSv/hour)
22km 23 09 8
76 2011/4/2 11:35 2011/5/27 12:.05 541 2011/5/28 11:14 549
22km 23 09 (0.3 paSv/hour)
32km 29 26 90
21 2011/4/8 13:18 2011/5/27 9:45 3656 2011/5/28 15:11 3746
32km 29 26 (3.1 paSv/hour)
if if il c/z
c/z
3 12 6 45 24 20km 2011 4 10 22 1-2
3 12 6 4 5 24 1 20km 2011 4 10 22 1-2

(http://www.nsc.go.jp/anzen/shidai/genan2011/genan022/siryol-2.pdf)

34 i 2 il
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